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Question Number : 1 Question Id : 4165299506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If speed (V), acceleration (A) and force (F)
are considered as fundamental units, the
dimension of Young's modulus will be :

Options:
r—4 A2
41652937452, vV ATF
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41652037483, V AT

7
41652937484, V ZAZF?

2

2A2E
41852937485, VToRE

Question Number : 1 Question Id : 4165299506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

AfE T (V), =X (A) a0 g4 (F) = 94
T 2 -

Options:

41652937482, V. 'A’F

45 -2m
41652937483, V ‘AT

kg
41652037484, V AT

Za2p—-2
41652937485, ¥ AF

Question Number : 2 Question Id : 4165299507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 ~®
A particle moves from th@omt

E_Z,[j? | —Ll?j] m, at t=0, m@ an initial
' 3

) A A |
velocity (5.[}:‘ | -l.['ij) ms .

It is acted

upon by a constant force which produces a

( Y A
constant acceleration (-L['H + 4.0 )r) ms 2,

What is the distance of the particle from the
origin at ime 2 s ?

Options:
41652937456, 20 V2 m

41652937487, oM

41650037458, 10v2m

41652937489, 0 M
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Question Number : 2 Question Id : 4165299507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
, pr A A
mmﬂm%mfﬁ@(m;‘ | —L[‘Jj)m

= = M A ot
H, RferE 9m (5.u;‘ } 4.[”‘] ms~! ¥,
nfaeiiel 21 98 UH gy w=Im

A A . u u
(4.[;;' | 4.[‘:;)}:115 2 30 A 9l U (R

I & Y9E H Joidl &1 999 2 s 9 FH i
o favg T i =7 = 7
Options:

41650937486, 20N2 m

41652937457, 10 M

41652937458, 10v2m

41652937489, 0 M

Question Number : 3 Question Id : 4165299508 Question Type: MCQ. Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation®'Vertical

Correct Marks: 4 Wrong Marks: 1 \Q
The magnitude of torque on a pagti
mass 1 kgis 2.5 Nm about the gri
force acting onitis 1N, and istanceof
the particle from the origir m, the angle
between the force and the position vector

is (in radians) :

Options:
T
41652937490, O
&
41652937491
a0
4
41652937492,
a0
41652937493,
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Question Number : 3 Question Id : 4165299508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
1 kg =09 T Hel fa=g o A 5 A0 =
qfE 2.5 Nm €1 A€ 39 W & Jrel =d
1N &, a1 %0 &l 9ot fag F gl 5 m & 1 =1

T Teerfa wfew & == =1 (Fegq H5) 2
Options:
17
41652937490, o
N1}
41652937491, ©
"0
4
41652937492,
13
41652937493,

Question Number : 4 Question Id : 4165299509 Question Type: MCQ.Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A particle of mass m is moving ina skrg@t
line with momentum p. Starﬁn%? ime
t=0, a force F=kt acls in the sam ection
on the moving particle durin @e interval
T so that its momentum c@cs from'p to
3p. Here kis a constant. "The valuewof T

15 2

Options:

2p

Yk

4165259374594,

I
= 3

416525937455,

= | =

416525937456,
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2k

|
Vp
41652937497,

Question Number : 4 Question Id : 4165299509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

m ESIHA F1 TS U G947 p § T Hied 1@
YA W@E | T t=0 T 0] F3F 3497 faum
T UF 96 F=kt 59 Ta9H &9 T FHAEE
T T TN € 1, S9T T p | T8 3p &
WA TR kTR FERE ) THRAAE

Options:
2p
41652937494, Vk
7 |B
k
41652937495,
5 |k
41652937496, 'F
. S
2k g\\
= N
\p &
41652937497 $Q\
N

Question Number : 5 Question Id : 4165299510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A particle of mass m and charge q is in an
electric and magnetic field given by

— Fat i - M M

E=2i+3j ; B=4j+6k.

The charged particle is shifted from the
origin to the point P(x=1 ; y=1) along a
straight path. The magnitude of the total
work done is :

Options:

415523274358, >q

41652937499, (299
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41852937500, {D'IS}q

416525937501, 02

Question Number : 5 Question Id : 4165299510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
— A

ZETHA m A AN q FUFH FT E=2i 43 ] ;

—* M A

B=4 j+6k T Te T4 forgd wsl =t &
H %1 @ emaAw &1 qa fag ¥ fag
P(x=1;y=1) 7% U= |t @1 % 99 & AT
fereenfug =20 8| T4 73 T S 1 afmm
e

Options:

4165259374598, 5q

41652937499, (29)9

41652837500, (0-19)9

41852937501, {9.35}1:21

"~

Question Number : 6 Question Id : 4165299 %u&stion Type:MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option O, ation :-Vertical

Correct Marks: 4 Wrong Marks: 1 \Q

A string is wound around % ow eylinder
of mass 5 kg and radius 0.5m. If the string
is now pulled with a horizontal force of
40 N, and the cylinder is rolling without
slipping on a horizontal surface(see figure),
then the angular acceleration of the cylinder
will be (Neglect the mass and thickness of
the string) :

(T"JH} N

e

Options:
2
41652937502, 10 rad/s

3
41652937503, 12 rad/s®

S 2
41652937504, 10 rad/s
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2
416525937505, 2wy

Question Number : 6 Question Id : 4165299511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

5 kg F=HHM 41 0.5 m 541 % U% @rEed
e Y U S e T g afe 26w
319 40 N & 4fas 571 ¥ @i=n 99 3R, 3
for former dfas w9aa W oesa & (=
2figd) T, I & HI0ME =0 B (SR
ZHM q91 HI2E T 7)

(T’*iﬂN

e -~

Options:
2
41652937502, 10 rad/s

i
41652937503, 12 rad/s<

3 7
41652937504, 10 Tad/s

2
416525937505, 2wy

Question Number : 7 Question Id : 4165299512 Q n Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orient : Vertical

Correct Marks: 4 Wrong Marks: 1

A circular disc DI of mass v radius R
has two identical discs D d D,/Of the
same mass M and radius tached rigidly
at its opposite ends (see figure). The
moment of inertia of the system about the
axis 00, passing through thecentre of D,
as shown in the figure, will'be :

GI
L__,f*
.-'/_\'-. f;”‘x_l
Dy Y 1 D
II-\ ./'J I j 1 II."\__,/"J
Options:
MR2
41652937506,
)
ZMR?
41652937507,
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IMR2
4152927508,

Ul W
e
P
e
[

4165282375038,

Question Number : 7 Question Id : 4165299512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ZHA M a9 =1 R % % fem=m D, |
T9H Z=99H M a4t 5= R &1 21 femF D,
R D, H AFH-AFE gedrgd® Sl T #
(o=t <fEd) | =8 "94eE &1, femmd ™
T aR D, % % 9 5 =l #8900 F
Fﬁﬂ,ﬁ%ﬁwgﬂﬂ:

Dy|

. _r"'lll - Ul II.‘\__./'

Options:

41852937506,

41652937507, 3 N

41652937508, @

416525937509,

Question Number : 8 Question Id : 4165299513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The mass and the diameter of a planet are
three times the respective values for the
Earth. The period of oscillation of a simple
pendulum on the Earth is 2s. The period
of oscillation of the same pendulum on the
planet would be :

Options:

3
- |
41652937510, 2
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ol

s
41652937511,
g
7
41652937512,
41652937513, 23 s

Question Number : 8 Question Id : 4165299513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

TF U T SAHM a1 S, JeEt &1 G e
F1 A A #1 Yl W UF W cllelsd
HATTAHA 25 & | I Sletah 1 U8 | AEdH

=

1
Options:
3
R -
41652037510, 2
3
i
41652937511
2 N
. - SQ&
N S
41652987512, q§>
W
| N
41652937513, 2Bs O

Question Number : 9 Question 1d 14165299514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

When 100 g of a liquid A at 100°C is added
to 50 g of a liquid B at temperature 75°C,
the temperature of the mixture becomes
90°C. The temperature of the mixture, if
100 g of liquid A at 100°C is added to 50 g
of liquid B at 50°C, will be :

Options:

oL
41552337514, 60°C

L]
416525837515, 70°C
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Ls]
41852937516, 80°C

416528237517, 85°C

Question Number : 9 Question Id : 4165299514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

100 g F=44 A41 100°C A9 =1cd 29 A =l
50 g F=AM A4 75°C TIAM 911 39 59 B
+ oy o & o fagu =1 a9EE 90°C =
ST F | AR 100 g B2 91 100°C T9HH
el 79 A W1 50 g F=9EE 991 50°C TIHA
9l 59 B % W19 TAemd o fagm =1 aaee
20

Options:

oL
41552337514, 60°C

L]
416525837515, 70°C

Ls]
416525937516, 80°C

L]
41652837517, 85°C

N

Question Number : 10 Question Id : 41652995 ‘Q&ﬂion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Or§ ion : Vertical

Correct Marks: 4 Wrong Marks: 1

In a process, temperature Q\\%ﬂlume of
one mole of an ideal mon mic_gas are
varied according to the relation VI'=K,
where K is a constant. In this‘process the
temperature of the gas isdncreased by AT.
The amount of heat absorbed by gas is (R

is gas constant) :
Options:
1
ER&T
416525927518,

1
- KRAT
416525937519,

2K

416525937520,
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3
';RﬁT
41652937521,

Question Number : 10 Question Id : 4165299515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

TS WA H, UF AE¥ UHTHE T F um
e &1 2909 9 a99HE, T9=0Y VT =K §R
Tl &, S8 19 K U fadis 81 29 giwa
T g =1 99HE AT =92 & 81 E 51
I 51 1 | 2 (R 719 fom §) .

Options:
1
ER&.T
41652937518,

1
;KR&T
416525937519,

PR

416528237520,

4
';RﬂtT
41652937521, ©
N\
%Q

Question Number : 11 Question Id : 416529 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optior\ tation.: Vertical

Correct Marks: 4 WrongMarks: 1 N
A metal ball of mass (.1 k@s heated uplo
500°C and dropped into a vessel of heat
capacity 800 JK I and containing 0.5 kg
waler. The initial temperature of water and
vessel is 30°C. What is the approximate
percentage increment in the temperature of
the water ? [ Specific Heat Capacities of
water and metal are, respectively,

4200]kg 'K~ 'and 400 Jkg 'K 1]
Options:

”
41652937522, o0 %

Li]
41652837523, 2%

o
416525937524, 15 %
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2
41652937525, 20 %

Question Number : 11 Question Id : 4165299516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

0.1 kg Z=9HM =i 91q i T 715 $1 500°C TF
T FTg € AR 800 JK ! e 9wl v
o, forEH 0.5 kg I B, & o= =@ < 2
T AT 9T T AR A9EE 30°C 21 9
o a9 H g8 wfava afg e €2 (9
g o1q w1 fafyme senaftad
4200 Jkg 1K~ e 400 Jkg 1K1 F)
Options:

o
41652937522 0 %

416525937523,

41852937524,

415523937525,

Question Number : 12 Question Id : 4165299517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation®'Vertical

Correct Marks: 4 Wrong Marks: 1 \Q
A pendulum is executing simple hdpmonic
motion and its maximum kjne% ergy’is
K,. If the length of the dulum is
doubled and it performs @1 le harmonic
motion with the same amplitude as in the
first case, its maximum kinetic energy is K.
Then :

Options:

41650037506, F2=Ki

K, =2K,
41652937527,
41652937528,

41852937529,

Question Number : 12 Question Id : 4165299517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1

T Tl WYE ST i F @l SR H
FAfearaH TS Sl K, 8| AfE dreren &l o
M R € 3R 98 9B % TEE AW ° #
TS AT T A E A GHRT AR T
WFKZ%I a4 :
Options:

41652037506, F2 =K

=K.
41652937527 bg L

K
Kz :,—1
41652937528, -

Ko =
41652937529,

Question Number : 13 Question Id : 4165299518 Question Type: MCQ Option Shuffling:.Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A simple pendulum of length 1 m is
oscillating with an angular frequency
10 rad/s. The support of the pendulum
starts oscillating up and down with a small
angular frequency of 1 rad/s andyan

amplitude of 10 2 m. The relativ ge
in the angular frequency of the@iduhm
is best given by : Q\Q

Options: @$

1
41652937530, 107 "rad/s

3
41652937531, 107" rad/s

5
41652937532, 107 “rad/s

41650037533 1 rad/s

Question Number : 13 Question Id : 4165299518 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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1 m =TS F1 UF Oie] desd S g
10 rad/s ¥ 2o F W 2| Eleish 1 AR
T A1 Y UF AT FUEG 3G 1 rad/s
H, 74110 2 m STAMH ¥, e AT FTd 2 |
T 1 g ATga § i 9fiEdy gl
Wﬁmw%:
Options:
41650937530, 10 'rad/s

3.
41852937531, 10 “rad/s

5
41652937532, 10 “rad/s

41650937533 1 rad/s

Question Number : 14 Question Id : 4165299519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Seven capacitors, each of capacitance 2 pF,
are to be connected in a configuration to

6
obtain an effecﬂvecapacnan:eof[ﬂw wF.

Which of the combinations, shown in
figures below, will achieve the de d

value ? %
Options: Q(§,
I
/f’ ] @%

€
~\H_| |,?
N

4165258237534,

% \ [

41552337535,
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EN
'%AH%HHHP

g

416525937536, \||

PIN
e e )

41652837537,

Question Number : 14 Question Id : 4165299519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
2 wF 1 % 7 Wil o1 Us Hared | Sied

.

& b
T gE! e {—
\\13)}

wF 9T 2t 81 femmd

T fo= § 9 FH 91 93re sfeed |9 e ?

Options:
Ak
AR
-
NI
NP Q
41652937534, SQ&Q
IL Q&
§;
ﬁ, -
41652937535, ﬂ/
PN
F%%AAHHHP
i
41652937536, \”
/| l\'x
A AHHHH
41652937537,

Question Number : 15 Question Id : 4165299520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks._4 Wrong
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An electric field of 1000 V/m is applied to
an electricdipole at angle of 45°. The value
of electric dipole moment is 1027 C.m.
What is the potential energy of the electric

dipole ?
Options:
27
41652937538, /X107 ]
) 29
41652937539, — 10X 10 J
. 20
41652937540, — 2% 10 ]
e 18
41650937541, —20%x107F ]

Question Number : 15 Question Id : 4165299520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

1000 V/m % U5 Toed 219 %1 45° 9 T TF
foga 5T W oma &1 o fooga s
FHA 10-2 C.m ¥ Toer@ fya #1 fafaw
T AL ?

Options:

27
41652037538, /X107 ]

29 ®
41650937539, — 10X107 ] O
N
N
41652937540, — 9% 1072 ] Q\Q
@$
s 18
41652937541, 20X 1077 ]

Question Number : 16 Question Id ::4165299521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Two rods A and B of identical dimensions
are at temperature 30°C. If Ais heated upto
180°C and B upto T°C, then the new lengths
are the same. If the ratio of the coefficients
of linear expansion of A and Bis 4: 3, then
the value of T is:

Options:

LE
416525837542, 200°C

41652937543, 230°C
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i
41652937544, 20°C

41652937545, 2/0°C

Question Number : 16 Question Id : 4165299521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

THEHH R ®1 81 B A 991 B, 30°C T9HH
T E | gfz A F1180°C T 791 B &I T°C 7%
T A & O SAH] S EEd gAF 2 1 afg A
A9 B % W YER U 1 S 4: 3 T,
THHAE:

Options:

LE
41852937542, 200°C

41652937543, 200°C
g
41652937544, 20°C

41652937545, 270°C

Question Number : 17 Question Id : 4165299522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
S

In the experimental set up of mr_-tr@dge
shown in the figure, the nu int is
obtained ata distance of 40 cr \@om A Tfa
10 £2 resistor is connected -IQ rieswith Rt,
the null point shifts by 10 cm. The
resistance that should be connected in
parallel with (R;+10) € suchthat the null
point shifts back to its initial position is :

Ry Ry
NF‘?“I%%

k@,»k,l
¥
A B
| | ’
[ \
Options:
41652937546, 60 £
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416528237547, 40 Q2

41652937545, 20 )

2
416525937549, 204

Question Number : 17 Question Id : 4165299522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e T TeeER |z 4G F U gAr H A
ﬁ%tﬂcmﬁﬂ‘%ﬁlﬁﬁmﬁfmél afg
10 O % U= 9fad™ 1 R, F We 400 9 F
Wﬁ%,ﬁ?ﬁﬁ@lﬂcmﬁ?ﬂﬁﬁ%ﬁm%l
= gicd, TS99 (R, +10) Q = W19 HHH
w9 H @H 9 I g [ A ARE
Terfa § o1 = &, 2 ey

R, Ry
v F‘ ;?#
'3
G,
H'
A B
| —C) "~
| S
Options: %§.
60 O
41652937546, QQ

416528237547, 40 Q

41652937545, 20 )

2
41652837549, 204

Question Number : 18 Question Id : 4165299523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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In the circuit shown, the potential
difference between A and B is :

10 1V
h,-l -'\.Vr.._‘___-ﬂ._v_,-\ I i
50 QO ?l ‘I*’ 10 Q
— A AL AN
A D T e B
10 3| v
WATATS | |

Options:

41652937550, 2V

41652937551, 3V

X7
41652937552, OV

T
416525937553, 1V

Question Number : 18 Question Id : 4165299523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
e 3wty § A 901 B %+ favErm 2

19 1V
M A | I
2V
3o | ae 2V | nef
A D C &%‘ B
3V Q>
N *w;]’" \f:‘i" I \\\Q
Options: @

41652937550, 2V

41852937551, OV
Y
41652837552, OV

')
41652937553, 1 ¥

Question Number : 19 Question Id : 4165299524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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A paramagnetic substance in the form of a
cube with sides 1 cm has a magnetic dipole
moment of 20 x 10~ ¢J/T whena magnetic
intensity of 60 x 10° A/m is applied. Its
magnetic susceptibility is:

Options:

2
41652937554, -0 X 10

41852937555, +3x10

[

41652937556, 2.3x10

41652937557, 0 X 10

Question Number : 19 Question Id : 4165299524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

1 cm 9 & "9&9 sgEHE =Y W,
TrEE ™ TEd 60 % 10° A/ m T T IHH
T faya g 201076 J/T & 2

ST TEHE Y9fa T
Options:
2
41652937554, -0 % 10
2
41652037555, +3x10 §§§
N
4yEsrasyeEs 231072 Q\Q%

41652937557, 33X 10

Question Number : 20 Question Id : 4165299525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The region between y=0and y=d contains

a magnetic field E = B; . A particle of
mass m and charge g enters the region with
a velocity ;’}=I-‘ 1. OF g= % , the
¥ EL]E-
acceleration of the charged particle at the
point of its emergence at the other side is:

Options:
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416525937558,

41852937559,

415523237560,

416525937561,

Question Number : 20 Question Id : 4165299525 Question Type: MCQ Option Shuffling : Yes. Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Y= ﬂfﬁ’-ﬂy d$3ﬁ?ﬂ?qﬁw

ﬁf@ﬂﬁ'ﬂﬁﬁB ;ﬁﬁmﬂ%lﬂﬂmﬁm

ﬂmmﬁmqmww En BB =g &

I]‘I.I’%ﬁtm
H 9t FEer 9 fag W, a@&ﬁmvﬂ

= B @

qub J34 1’“.1
Sepy s EI

14
m | 2 )

Options:

416525937558,

41652937559, v

41852937560,
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qub j+i
m J2

416525837561,

Question Number : 21 Question Id : 4165299526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A copper wire is wound on a wooden
frame, whose shape is that of an equilateral
triangle. If the linear dimension of each side
of the frame is increased by a factor of 3,
keeping the number of turns of the coil per
unit length of the frame the same, then the
self inductance of the coil :

Options:

4165093755, Ncreases by a factor of 3

41652937563, decreases by a factor of 9

41652937564, iNcreases by a factor of 27

41652937565, decreases by a factor of 9\1":":

Question Number : 21 Question Id : 4165299526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientq{\&. Vertical

Correct Marks: 4 Wrong Marks: 1 @

A14 % A1 F UF wel & @, § AT
U g B ¥, W ee T e |, aa
e e S T e e T g,

@ Fi T o & W@ faEE 3F e
| e % T O FUSdl 1 =
Options:
3 % [ H T
41552937562, : .
41552937563, 3% 1 il
27 % T H W
41552937564, ’

9.3 F Ui § T
41652937565, OV3

Question Number : 22 Question Id : 4165299527 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 4 WrongMarks: 1

A 27 mW laser beam has a cross-sectional
area of 10 mm2 The magnitude of the
maximum electric field in this
electromagnetic wave is given by :
[Given permittivity of space ¢, =9 x 10 =
SI units, Speed of light c=3x 10°* m/s]

Options:

41652937566, 1 KV/m

¥
41652937567, 1 KV/m

416529375658, 2kV/m

4
416525937569, BT KX

Question Number : 22 Question Id : 4165299527 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

27 mW F U 18R TR0 o & SAI5 12 I
AR 10 mm? ¥ 1 59 foem graaig 71 &
we S & %1 ufem 2 (fen # faf
w1 forgaefierd e, =9x 10~ 12 SI #ABIH #

9 Fl A9, ¢ =3 %108 m/s) Q
Options: K\Q
' N
41652937566, 1 KV/m N
Q‘Z}
Q

416525937567,

1kV/m @$

416529375658, 2kV/m

4
416525937569, BT KX

Question Number : 23 Question Id : 4165299528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A monochromatic light is incident at a
certain angle on an equilateral triangular
prism and suffers minimum deviation. If
the refractive index of the material of the

prismis /3, then the angle of incidence
is
Options:

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

AEo
416528237570, H

ki
41852937571, 30

41652937572, 60°

41652937573, 90°

Question Number : 23 Question Id : 4165299528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T2 U fafe=d S0 9 Srafad g & S S5
A fa=er 2 g1 afe fisg & wd =
ATEAF (3 2, 1 A HI0E

Options:
AEo
41652937570, 4
o
41652937571, 30

41652937572, 00°

41652937573, N° d§>

N
Sy
Question Number : 24 Question Id : 416 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Opti rientation: Vertical

Correct Marks: 4 Wrong Marks: @
In a double-slit experiment, green light
(5303A) falls on a double;slit having a
separation of 19.44 um anda width of
4.05 pm. The number of bright fringes
between the first and the second diffraction
minima 1s :

Options:

416525937574, 10

41652937575, 09
41652937576, 0O

416520937577, M
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Question Number : 24 Question Id : 4165299529 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

wF -5 wam H, 0 9H (53034)
5-fat = wear @1 fofe &% #= %1 g0
19.44 pm T ST AISE 4.05 um &1 99T
Ay f5dra faaes A== F == § e <
T 2 7

Options:

415523837574, 10

41652937575, 09
41652937576, 09

41852937577, 04

Question Number : 25 Question Id : 4165299530 Question Type: MCQ Option Shuffling:~Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
In a photoelectric experiment, the
wavelength of the light incident on a metal
is changed from 300 nm to 400 nm. The
decrease in the stopping potential is close

$
g\\
Options: &2,
41652937578, 1OV Q\QQ}

@&

he ”
to: {? =1240 nm-V)

41652937579, 20V

416525937580, 05V

41652937581, 19V

Question Number : 25 Question Id : 4165299530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

TeRTyT-Tad 9 9TE & Ua 930§ 97 9 Sfad
19 Y T2 300 nm T TS 400 nm
Fd & | s fava o w01 2r, we (fean

k
T ; =1240 nm-V )

Options:
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41652937578, 1OV

41652937579, 20V

41852937580, 05V

41652937551, 1OV

Question Number : 26 Question Id : 4165299531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In a hydrogen like atom, when an electron
jumps from the M - shell to the L - shell,
the wavelength of emitted radiation is A. If
an electron jumps from N-shell to the
L-shell, the waveleng th of emitted radiation

will be :
Options:

1

ety

25
41652937582,

25
41652937583, 10

20 N

ety Q

27 S
41652937584, Q§>

W
QQ

9

z,
41652937585,

Question Number : 26 Question Id : 4165299531 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

TF TESIOE HAM TWH] H, 59 soiadeid
M - Tl Y L - el § HehHo1 = 8, 1 Ieafsid
ot 1 woe=d A €1 Afs seeeE N-Fe
W L-e | GHH0 FL 1 Iedrod Tareho i

FoTe B
Options:
I6
25
41652937582,
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s
= X

416525837583, 16

20

— A

27
41552327554,

e,

41852937585,

Question Number : 27 Question Id : 4165299532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The circuit shown below contains two ideal
diodes, each with a forward resistance of
50 ). If the battery voltage is 6 V, the
current through the 100 (2 resistance(in
Amperes) is :

D1 1500
|""-.., | LY
=
}'] ARV
B
2 100
I I ASAAN
hV
Options: g&&%&
41652937586, 0.020 NS
Q‘Z}
N
41652037557, 0027 O
41652937558, 0-030
0.036
41652937589
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Correct Marks: 4 Wrong Marks: 1
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femary M uftgy § A ey =@E 7 A
U 1 AuTaierE gfady 50 O 71 3tz S=14
] dfeedl 6 V &, o1 100 Q % 9iaig § 9w

(uferR §) Br

D1 1500
r‘-IHJ V\fv‘\ Wt
- 75 ()
I.,-r AMAAL
-

2 100 O

I I i "'v""u- -."“'."l
6V
Options:

41652937586, 0.020

416525937587, 0.027

416525937588, 0.030

0.036
41552327589,

Question Number : 28 Question Id : 4165299533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
An amplitude modulated signal is ;&& d
below :

10v_ YO Q\

i) s -, ‘r- I|I
8V II |II| l'l IIHII I'IIQ?’H |'|I||||”|
|!|||I||:;|| llll_.lll'lilllll!I||||~.~

Liw! 18 |
1 nl 1Al |I| |

I | T || IR _
L I M- i il R ] |
A e | 1

100 ps

Which one of the following best describes
the above signal ?
Options:

41652937590, (9 +sin(25mx 10° t))sin(2w x10%) V

41650037591 (14 9sin2m x10%t))sin(2.5m X 10°t) V

4165003750z (9 +sin(4w x 101 ))sin(Gw x 10°t) V
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s16E0as7sgs (9 +sin(2mx 104 ))sin(2.5m x10°) V

Question Number : 28 Question Id : 4165299533 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T AEME-Argfad faee ® 29 F feamm

T
ovY®
svV— T V)
|||||I|IIII|||I||II N |
TR AT MR NARANARARANANIR
| [ | || UL T
| U
I -ll 'I |I Il u-' II' Iul"l'ifl |||I |I|.|I|_ -LII- ILII' I“I._Illl I||I !l
100 ps 3 us

= § | IWE foea i geE o=

TuIfar & ?

Options:

A16550375a0  (9+sin(2.5m x 10° t))sin(2m x 104) V

atesoosyegy  (1+98in(2mx104t)sin(25mw x 10%) V

41652037592, (9 +sin(4mx 10%t)sin(5m x 10°t) V

41652937593 (9 +sin(2mx10° t”ggi‘?’" x10°) ¥
\Q‘Z}'

Q
Question Number : 29 Question |d§§5299534 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A galvanometer having a resistance of
20 2 and 30 divisions on both sides has
figure of merit 0.005 ampere/division. The
resistance that should be connected in series
such that it can be used as a voltmeter upto

15 volt, is :
Options:
41652937594, S0 L)

41652937595, 10012

416525837556, Ll

1250
416525937597,
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Question Number : 29 Question Id : 4165299534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
e SR ferEE wfad 20 O ® 991 26 @R
30 |7 €, T SR G 0.005 U/ |
& | Torem wierisr Svitars %9 5 o o, sae
15 V @ & Uk dieeHie & &9 H T4 T
oM H ?
Options:
41652937594, 50 {

416528375595, 100 2

41852937556, Lt

1250}
41552327537,

Question Number : 30 Question Id : 4165299535 Question Type: MCQ Option Shuffling:.Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A thermometer graduated according to a
linear scale reads a value x,;, when in contact
with boiling water, and x,;/3 when in
contact with ice. What is the temperature
of an object in °C, if this Tlmrmmn%j@n
the contact with the object reads@_ :

Options: \Q%'
41652937595, 00 §§§§>
41652937599, 20

41652937600, o0

a1652937601. 40

Question Number : 30 Question Id : 4165299535 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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TEE WA o STEE A9 UE araETdT
(thermometer) 1 T2 IFed g T =
TP H x,, 91 qF F TE F 1/ 3 AL
TH 9T 1 TFH 95 F 9§ T W
THEI WSHIF x,/2 HAC € T, G F A
°CHFME?

Options:

41852937598, OU

415523927599,
416525937600, 35

41652937601, 40

Chermistry
Section Id : 416529140
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: ® 120
Display Number Panel: (&&Q Yes
Group All Questions: &§, No
Q\Q‘G
N

Sub-Sectteh Number: 1

Sub-Section 1d: 416529149

Question ShufflingAllowed : Yes

Question Number : 31 Question Id :.4165299536 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which of the following compounds reacts
with ethylmagnesium bromide and also
decolourizes bromine water solution :

Options:

Iille

e

"

4155232760%,
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CN
L _CH,—CO,CH,

e

41652937603, “/[

41652937604,
OCH,
__,.-_'_'.'5' ___.-"Cl I
. | cn,
41652937605 -

Question Number : 31 Question Id : 4165299536 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
FreAfafad & § FA-a1 i ufe S
AMEE § AfalEa Fa F a9 FHE 59
TR ot Fa & ?

Options:
tljl 1
= l{. T §§§>
N
41652937602, &
N
CN

L CH,-Co,CH,

41652937603, "‘/[

4165258237604,
OCH,
_A~_-CH
- \:\\

41552837605,

Question Number : 32 Question Id : 4165299537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 4 WrongMarks: 1
The correct match between Item 1 and

Item 11 is :
Item 1 Item 11
(A) Ester test P) Tyr

(B) Carbylamine test (Q) Asp
(C) Phthalein dye (R) Ser
test (S) Lys

Options:
4150937605, (1 Q) (B) () (C) > (R)

41652927607 (A)>(Q); (B)»(S): (O (P)

ates0937e0s. () > (R) (B} >(Q) (C) >(P)

(A)>(R); (B) >(5); (O Q)

416525937603,

Question Number : 32 Question Id : 4165299537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T2 | a1 WS 11 % =9 9] g8e © ;
2 1 LCall
(A) T TEHET (P) Tyr

t N " i ®
(B) FHEleHA WA (Q) Asp g\\g
S

(C) FWHE=TEZ= (R 5%%%

(S) QQ\&S
Options: %
41650937606, ) Q) (B) 2(3); (€) > (R)

41652937607, () >(Q); (B)>(S); (O >(P)

ates0a37e0g. () > (R): (B} >(Q) (C) >(P)

(A)>(R); (B)»(5); (O Q)

416525937603,

Question Number : 33 Question Id : 4165299538 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The homopolymer formed from 4-hy droxy-
butanoic acid is:

Options:
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W
¥ n

416525937610,
415523927611,

41652837612,

416525937613,

Question Number : 33 Question Id : 4165299538 Question Type: MCQ Option ShufflingYes-Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

4 BIESTEH FeAEE A9 | F A1l HEgE

T
Options:
{0{!‘{(}13)3—0 \\Q®
41552937210, @
8 G Q\Q‘?}
{ém..ﬁﬁ*
41552937211,
ol
C(CH),C-OT
41552937512,
Q
{3({:}12}3—0}
41552937213,

Question Number : 34 Question Id : 4165299539 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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In the following compound,

11.()
@ WO

aB

the favourable site/s for protonation
is/are :

Options:

41652937614, @)

41652937615, (@) and (e)

41652037616, (P) () and (d)

41650037617, @ and (d)

Question Number : 34 Question Id : 4165299539 Question Type: MCQ Option Shuffling:: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

et =nfires |
@th ik &
- R
= Q
© @Q

e & ferg sFe e 2/E
Options:
41652937614, (@)
41652937615, (@) T (e)

(b), (c) =T (d)

416525937616,

a4r (d
41852937617, @ @)

Question Number : 35 Question Id : 4165299540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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A compound ‘X’ on treatment with
Br,/NaOH, provided C;HgN, which gives
positive carbylamine test. Compound “X’
is :

Options:

41852937618 —HaCH,COCH,NH,

416525937613, miﬂ_IECHZCDNHZ

41652937620. CHLCON(CH;),

41652927621 CHQOCELNHCH,

Question Number : 35 Question Id : 4165299540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T AT ‘X Fl Br,/NaOH F 919 A3
T T CHN 52 S 999 FfeereHE
i 2@ g AT X F I

Options:

41652937618 “HaCHCOCH,NH,

41652937619 “HaCHCH,CONH,

N
41652937620, “H3CON(CH;), gﬁ\
N

CH.COCH. N
41652937621, 3 H, @ii?

$

Question Number : 36 Question Id : 4165299541 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No .Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The major product obtained in the
following reaction is :

D\\\ ;’OH
g
TS (e
T |
NO, O

Options:
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_OH
S
I“m P o CHE

NO, OH
41652837622, =

O, _.OH

.

-~

NO, OH
416525837823,

NH, OH
41652937624,

_OH

-

N
i 3 g\\
NH, OH
4152937825, §%

_CH

Question Number : 36 Question Id : 4165299541~ Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

1 srfuferan & wra 7= SE ©
O._OH

i +

A Li AlH,
T (enfu)

il

NO, O
Options:
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41652837622, =

NO, OH
416525837823,
_OH
s

NHZ OH
41652937624,
_OH
L ,"'fb‘:-_-\
= 3
T g\\
NH, OH ¢
41652937625, &%
@$

Question Number : 37 Question Id : 4165299542~ Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The major product of the following reaction
is :

HOH%:_::;.’;--...____._Y_f_,-f"“'--n_,_._..---""-ibx% {1] HCl

W (2) AICL, (Anhyd.)

41652837626,
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Cl j
41652937627.

™~ M,
41652937628,
Cl e LT
41652937629,

Question Number : 37 Question Id : 4165299542 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
e AfafFn g SR ©

HO R e
l ”, == () Hal ,
- (2) AlCl, (frsfe)

Options:

41E52837EZE,

a. A
41652937627, SRger”

= o
41652937628.
Cl =~ P
41652937629,

Question Number : 38 Question Id : 4165299543 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1
The major product obtained in the
following conversion is :

CH, O

Br,(1 eqv.)
e MeOH

H

v

QO
Options:
'[.'.31-13\w '®)
Br f
’,;;:33: /D P
oS | “‘IJ
41E52937FEE0, O
Cl I’i O
: Yr
’f:; H"*-I.,a---'g |f,,,
Brf-;._-._ _.-“‘f""n_‘_] l
O
41652937631,
CH. ©
i &
7T i . O[‘ﬂe Q(Z%
N3
L
> T
41652937652,
O
“H.—~
Cl 13 E:) 5
ff'?““xr/ N
.Méw*"‘\l l/'/H"D“E
O
41EEZ93FEEE,

Question Number : 38 Question Id : 4165299543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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=1 =ar=or © 9T 29 =Tel 98 391E €

CH, Je
D B'rz(-] Eqv_)
fﬁ\ILI ”_.x- MeOH
R e \H
Q
Options:
CH; O
Br
,;,-’:i:L\ xD P
['*;:%JHJ
41652937630. O
CH, 0
- \rl?-
"'.'--'f-::'mh“".-fD .____,-""
Bl"f. :-e""ﬁ‘“x] |
O
41652937631,
CH; O
D) OMe Q
~ j- - %Q
C I L
Ty
41652937632, @Q
O
o
CH; % (¢
N s
i il
O
41652937633

Question Number : 39 Question Id : 4165299544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Wh ich of the following compounds will
produce a precipitate with :‘-"Lgl'*~.l1(:"!3 ?

Options:
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41552337634, 3

,r""J\J
41652937655, L“Hf”

416525937636,
i
A1652837637.

Question Number : 39 Question Id : 4165299544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

AgNO, % 19 f1 Aifirehi # F 7 =1 s1aam
o
Options:

41652937634,

,r""J\J
41652937655, L“Hf”

416525937636,
i
A1652837637.
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Question Number : 40 Question Id : 4165299545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The correct match between Iltem 1 and

Item Il is:
Item 1 Item 1l
(A) Allosteric (P) Molecule binding
effect to the active site of
enzyme
(B) Competitive (Q) Molecule crucial
inhibitor for communication
in the body

(C) Receptor (R) Molecule binding
to a site other than
the active site of
enzyme

(D) Poison (S) Molecule binding
to the enzyme
covalently

Options:

siesosmrass (AP B)>R); (©)>(Q); (D))
41652937839 () (P (B)>(R); (C)>(S): (D) »(Q)
41652937640, (A)—>(R); (B) »(P); (C)»(Q); (D) >(S)
O
A ; (@A) ®
sieesesreii B>R:E) >(P}-% Q> 6); (D) 2(Q)
S
Question Number : 40 Question Id&65299545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

g | 991 U 11 % =19 Hel g0 ©
g 1 e 1l
(A) UdARZRE (P) U~SH & SiHd 9
KIS q A F G
(B) WiEFN  (Q) YRR H HHeHeld
(C) @t (R) TUATEH & HAlHT 9
&% S 3T H
ELE]
(D) fam (S) &Y I TIEH |
Tegdra® ¥9 9
AT 2
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Options:

secsamrean (A)®) B R); O Q: D) O
41652927639, (A)>(P); (B) »(R); (C)»(5): (D) »(Q)
41652927640 (A) > (R); (B) »(P); (C) »(Q); (D)»>(S)

41650037641 ) R) (B) () (C)(5); (D)>(Q)

Question Number : 41 Question Id : 4165299546 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The correct option with respect to the
Pauling electronegativity values of the
elements is :

Options:

41652937642, 1€~ Se

=
416525937643, g

S5 <
41652037644, O <Al

a<
41650937645, C2 < Ge

"~

Question Number : 41 Question Id : 416529 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optior\ tation.: Vertical

Correct Marks: 4 Wrong Marks: 1 &Q

el & e faem A w92
aFea ¥
Options:
41652937842 1€~ Se

=
4165258237643, S

|
41650937644, O <Al

a<
416525837645, Gatce

Question Number : 42 Question Id : 4165299547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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The reaction that does NOT define
calcination is :

Options:

. B
41652937646, Fe,0, - XH,0 —» Fe,0,+XH,0

ZnCO, — 2 ZnO+CO,
41652937647, : =

CaCO, - MgCO, 2, CaO+

41652937648, MgO+2C0,

2 Cu,5+30, —4-5 2Cu,0+250,
41652937649,

Question Number : 42 Question Id : 4165299547 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

AfafEwan =1 Fear F1 affE 78 #3d 2,

2
Options:

Fe,O, - XH,O 2, Fe,0,+XH,0
41652937646, 273 2 ¥ s 2

ZnCO, — 25 ZnO+C
41652937647, : S

Q
_&§

CaCO, - MgCCé\Q‘Z}' — T
41652937648, @$ MgO +2C0O,

2 Cu,S+3 03¢ 25 2 Cu,0+250,
41652937649,

Question Number : 43 Question Id : 4165299548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The hydride that is NOT electron deficient
is :
Options:
41652937650, SI'H'4

41852937651, AEH:‘E

416524937E52. B,H,
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‘G'ﬂI—I3
41552937253, :

Question Number : 43 Question Id : 4165299548 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ETSISE Wl Sl T ¢, TR ;
Options:

41652837650, SiH,

41552337651, A£H3

416524937652 B,H,

‘J.}JLH3
41552937553, .

Question Number : 44 Question Id : 4165299549 Question Type: MCQ Option Shuffling : Y.es:Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Match the following items in column I with

the corresponding items in column IL

Column 1 Column 11

(i) Na,CO,-10H,0(A) Portland cement
ingredien

(ii) Mg(HCO,), (B) CastneiKellner
pmé

(iii) NaOH (C) %‘E&}é}r process

(iv) CayAlLO, {D@ emporary
hardness

Options:
41852037654, (1) >(B); (1) (C); (iid) »(A); (iv) »(D)

41652937655, (1) >(C); (i) »(B); (1) »(D); (iv) »(A)
a185003765g, W) Q) (L) »(D); (iii)»(B); (iv) »(A)

sisEsesraey O (DAY G- H) )0

Question Number : 44 Question Id : 4165299549 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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w1 § 23 T = 58 F1 39F Om
FHied 11§ f& 73 =i | gofea wifau)
e | Hied 11
(i) Na,CO,-10 H,0 (A) Tdrecis Hife w1 o9
(i) Mg(HCO,), (B) F=W Fa® T

(iii) NaOH (C) e WA
(iv) Ca,ALO, (D) T FHERa
Options:

41652037654, (1) >(B); (i) >(C); (iii) »(A); (iv) (D)
41652937655, (1) (C); (i) »(B); (1) »(D); (iv) »(A)
a1650937asg. @) (G () >(D); (iii) > (B); (iv) »(A)

(£) >(D); (@) >(A); (iii) > (B); (iv) »(C)

41652837657,

Question Number : 45 Question Id : 4165299550 Question Type: MCQ Option Shuffling :'Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The relative stability of +1 oxidation state
of group 13 elements follows the order :

Options:

41652937658, Al<Ga<In<Tl N
N

S

41652937659, 11<I<Ga< A%§
S
41652937660, CA< Al< 1

41652037661, 1 <Ga<Ti<In

Question Number : 45 Question Id : 4165299550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
U9 13 T B +1 ATFEF T A
HATIfeTe T SH FH H ©
Options:
41852937658, Al<Ga<In<Tl

416520937650, 11<In<Ga<Al

41652937660, Ca< Al<In<TI
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41652037661, ‘M <Ga<Tl<In

Question Number : 46 Question Id : 4165299551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

4 KOH, :

A-SKORGH o op 1510
(Green)

4 HO -
~—— 2C +MnO,+2 H,0

(Purple)
2 HOK , 24 +2KOH+D

3B

In the above sequence of reactions,
‘A and D, respectively, are :

Options:

41650937662, 1 and K;MnO,

41652937663, MnO, and K10,

41652937664, KO3 and MnO,

41652937665, L and KMnO,

Question Number : 46 Question Id : 416529955, S@sion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orj Ion : Vertical

Correct Marks: 4 Wrong Marks: 1 Q}§

&~

A SERHL oy +zr%@

(=)

3B 2C +Mn@,+2 H,0

(FT)
2 HOK  2A+2KOH+D

STATFAAT o S FH H, A 91 D FA:

%

Options:

d16525937EE2, K17 K, MO,

41652937663, Moty S0,

416525937664, KIO; 91 MnO,
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416509376, L AT KMnO,

Question Number : 47 Question Id : 4165299552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The number of bridging CO ligand(s) and
Co-Co bond(s) in Co,(CO)g, respectively
are :
Options:

41652037665, Vand2

'j.
41652037667, 2and0

41652937663, 2and1

41652937659, +and0

Question Number : 47 Question Id : 4165299552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Co,(CO)g ® Hg =¥ CO o= a91 Co-Co
AT/ ST ] G HET: © :

Options:
41652937666, O 0912 ‘Q\éQ
_— S
41652937667, < NS
&Q
SRS
41652937668, < 9411
49410
41652937669,

Question Number : 48 Question Id : 4165299553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The coordination number of Th in
K4[Th(CG04)4(OH;),] is -

(C EDE_ = Oxa_latﬂ)

Options:

41652937670, ©

41652937671, 8
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41852937672, 10

41652937673, 14

Question Number : 48 Question Id : 4165299553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
K,[Th(C,0,),(0H,),] H Th i 5= G&A1
£

(C,03™ = Oxalato)
Options:

416525937670, 6

41652937671, O

d1652837672. 10

41652937673, 14

Question Number : 49 Question Id : 4165299554 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Taj Mahal is being slowly disfigured and

discoloured. This is primarily due to;
P J %Q
Options: &Q‘
41652937674, 20l pollution NS
&Q

Q
T ——— global w an%.ng

41652937676, acid rain

water pollution
41552937677,

Question Number : 49 Question Id : 4165299554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
AISTEE Y- 7T fom T SR & o @ 2
TRTA I A IO T

Options:

41852937674 TARS
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41650037675, AT AMH!
41652937676, L

41852937677, il

Question Number : 50 Question Id : 4165299555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The higher concentration of which gas in
air can cause stiffness of flower buds ?

Options:

41652837678, SO,

416525937673, CD-?

416525937680, NO,

I

416525937681,

Question Number : 50 Question Id : 4165299555 Question Type: MCQ .Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
ﬂﬁﬁgﬁ“ﬁmwﬁmﬁﬁ\@ﬂ
o A B ? N

N
Options: &
41652937678, 02 @
41652937679, 2
41652937680, V2
41652937681, O

Question Number : 51 Question Id : 4165299556 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
25 ml of the given HCI solution requires
30 mL of 0.1 M sodium carbonate solution.
What is the volume of this HCI solution

required to titrate 30 mL of 0.2 M aqueous
MNaOH solution ?

Options:
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41652937682, 20 mL

41652937653, 20 mL

41652037654, /2 ML

41E525937EEE. 15ml

Question Number : 51 Question Id : 4165299556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

25 mL HCl fae@a & f&d 01 M Hifsam
FEZ fae@d %1 30 mL AEvESF 2l 8,
02 M @™ NaOH % e[ #1 s
T4 & fod 38 HC f9e3 & o s
T SAFTIF BN 2

Options:

41652937682 = ML

41652937683, 20 mL

41652937684, /0 ML

41652937685, 120 ML gQ\Q&Q

Single Line Question Option : No rientation : Vertical

Question Number : 52 Question | C& 9557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
@)
Correct Marks: 4 Wrong Marks: 1

The radius of the largest sphere which fits
properly at the centre ofthe edge of a body
centred cubic unit cell is: (Edge length is
represented by ‘a’)

Options:
41652937686, 0134 a

41652937657, 0.067 a

41652937638, 0027 a

0.047 a
416525937689,

Question Number : 52 Questlon Id : 4165299557 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1

T Figd T Tohd Yol & DR &5 &g H e
e (e 29 9@) a4 92 il &1 5=
BRI (S o= i ‘a’ BRI =9 TR T )

Options:

41652037656, 0134 a

41652037657, M067a

416529376358, 0027 a

0.047 a
41E52837EE9.

Question Number : 53 Question Id : 4165299558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The de Broglie wavelength (A) associated
with a photoelectron varies with the
frequency (v) of the incident radiation as,
[vy is threshold frequency] :

Options:
A o —1
1
(v — )2
41652937690, Q
Ny
(v — vp) Q\Q
41652837691, @
Ao ! 5
] I |
41652937692, (v~ v0)
A o 1 -
41652937693, W =wl

Question Number : 53 Question Id : 4165299558 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

RIS geraeid o graf-d fe-sfef qimes
(X), HAMfaa fafe & sEf (v) % 719 59
mmﬁﬁ%% {UHZ%EEﬁ 841?;1'&1]
Options:

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

A o 1
(v —vp)?
41652937690,
Ao g
(v lrﬂ,}
41652937691
1
A o -
I 1q }4
41652937692, ( 0)
h oot 4 3
if lf :1
41652937693, ( 0)

Question Number : 54 Question Id : 4165299559 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The standard reaction Gibbs energy for a
chemical reaction at an absolute
temperature T is given by
AG'=A-BT
Where A and B are non-zero constants.
Which of the following is TRUE about this

reaction ?
Options: K&QQ
41652937594 Lndothermic if A }%

S

BSEAN
41852937895, Exothermic ffgg& 0

N

41652937696, Endothermicif A <0and B> 0

41652937697 Exothermucif A>0and B <0

Question Number : 54 Question Id : 4165299559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
T 9 T W UF T9EEE afafEan & fou
A AffsR=1 s el 71 o GRT Afy=em
= S

AG°=A—-BT
el A T B ¥ A B 91 feriw 1 5
AuFm F o i a s mEa g7

Options:
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41650937694, TN AT A >0

ST <
41652937695, i Elﬁ B<0

FHEM afe A <0 T B> 0

41852937636,

FHET AT A>0TMB<0
4152937897,

Question Number : 55 Question Id : 4165299560 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The reaction,
MgO(s) + C(s) »Mg(s) +CO(g), for which
A H"= +491.1 k] mol ~ ! and
ﬁr5“= 198.0 JK I mol 1, is not feasible at
298 K. Temperature above which reaction

will be feasible is :
Options:
41552937298, 2040.5K

4165259376949, 24803 K

41652937700, 2980.5K

N
41652837701, 1890.0 K %%Q

Sk
\Q‘Z}
Question Number : 55 Question Id@Q%& Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No n Orientation”: Vertical
Correct Marks: 4 Wrong Marks: 1
AfafE=r MgO(s) +C(s) »Mg(s)+ CO(g)
fag=®1 A H°= +491.1.K] )mol ~1 a1
A,5°=198.0 K ! mol ! ¥ 298 K W T+d
T #1 9 99 fous s afufEn o
B, & :
Options:

4165259376598, 2040.5K

41652037699, 24803 K

41652937700, 2080.5K

416525937701, 1890.0 K

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

Question Number : 56 Question Id : 4165299561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
K-5Hgl, is 40% ionised in aqueous solution.
The value of its van't Hoff factor (i) is :
Options:

416525937702, L6

41652937703, 1B

416525937704,

)
(]

41652837705,

Question Number : 56 Question Id : 4165299561 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
K,Hgl, S faema § 40% smafa 21 59
FI2EIF O (i) 1 HE 80

Options:

416525937702, L6

41652937703, 1B

416525937704,

41652837705,

e
7

Question Number : 57 Question Id : 4165299562 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

For the equilibrium,

2 H,O= HaD* +OH ~, the value of AG®
at 298 K is approximately :

Options:

5 1
41652937706, — 100 K] mol

1
41652037707, — 80 k] mol

1
41652937708, o0 k] mol

1
41652937709, 100 K] mol
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Question Number : 57 Question Id : 4165299562 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
2H,0=H,0" +OH~ 4= % fe1g, 298 K
T AG® T HH T E

Options:

= 1
41652037706, 100 K] mol

1
41652937707, — S0 K] mol

1
41652937708, S0 kK] mol

1
41652937709, V0K mol

Question Number : 58 Question Id : 4165299563 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Givén the equilibrium constant :

K¢ of the reaction :

Cu(s)+2Ag™ (aq) » Cu?* (aq) +2Ag(s) is

10 % 1013, calculate the Eiii of this reaction

at 298 K

[:z:xm RT 298 K=0.059 x}

' N
Options: %g\
41652937710, 004736 V %%

N
- \
st6s2037711, 04736V

41652037712, 004736 mV

04736 mV
41552937713,

Question Number : 58 Question Id : 4165299563 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Cu(s) +2Ag " (aq) —» Cu®*(aq)+2Ag(s)
gfufe=n =1 fean man ar= feerrs, K,

10x 105 21 298 K W 30 sif4fwman & E?

cell

T TTUAET FHifaT |
{z;xm RIT at 298 K=0.059 xll
Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

Options:
s AT
41652937710, 04736V

416525937711, 04736 V

41652037712, 0-04736 mV

04736 mV
41552937713,

Question Number : 59 Question Id : 4165299564 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The reaction 2X —» B is a zeroth order
reaction. If the initial concentration of X is
0.2 M, the half-life is 6 h. When the initial
concentration of X is 0.5 M, the time
required to reach its final concentration of
0.2 M will be :

Options:

T
41652937714, /-2 h

41652937715, 18.0h

416525937716, 9.0h

N

Q
41652937717, 12.0h S’Q\
N

»
Question Number : 59 Question Id: 99564 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No n Orientation”: Vertical

Correct Marks: 4 WrongMarks: 1

AATIfEFT, 2X > B UF I Il &1 ATH
1 02 M = ARTF H=al & fan, ey
6 h T A X 1 IR A= 0.5 M F,
0.2 M = SAfoH Arsdl 9894 § @7 el 994
2

Options:

41652937714,
41652937715, 18.0h
416529377 16.

416528937717,
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Question Number : 60 Question Id : 4165299565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Among, the colloids cheese (C), milk (M)
and smoke (S), the correct combination of
the dispersed phase and dispersion
medium, respectively is :

Options:
C: solid in liquid; M : liquid in liquid ;
41652037718, > §asn solid

C: solid in liquid; M : solid in liquid ;
41650937719, O - sSolid in gas
C: liquid in solid; M : liquid in solid ;
41652037720, ©:solid in gas

C : liquid in solid; M : liquid in liquid ;

41652037721, - solidingas

Question Number : 60 Question Id : 4165299565 Question Type: MCQ Option-Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

FIETEE, 99 T (C), 39 (M) 791 937 (S) F

ﬁwﬁﬁwwamqﬁﬁww
T Te FE: B S

el

. S

Options: (b§.

C:ﬁﬁﬁm;@%aﬁaa;a:aaﬁﬁu

N

41650937719, C:EAH OM; M FaH 3m; S : T H 3

4165259237718,

41652937720, C: oM HEH; M:2HH g9;S: T 3m

C:-2MmHga: M -gd H 89;S - T H 3w

41652937721,
Mathernatics

Section Id : 416529141
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 30
Number of Questionsto be attempted: 30
Section Marks:
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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 416529150
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 4165299566 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let a function f: (0, =)-»(0, =) be defined

1
by fix)= ‘1 ;‘ Then fis:
Options:

41652937700 njective only

41652937793, not uqectwe but it is surject_we

41652937724 neither LI'I]ECT.IVE‘ nor SUI‘JECT.I'VD

41652037705 both injective as well as surjective

Question Number : 61 Question Id : 4165299566 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 @
AT TF Fedd f: (0, =) (0, =) g\\g
: i &
flx) = ‘1 —_‘gmtrﬁwrf‘qa g, ?‘:‘1@%
X @$
Options:

41652937722, DA THH 2 |

41652937723, THooTa T T T T ¢
41652937724, 1 TFHE ¢ 7 A B

41852937725,

Question Number : 62 Question Id : 4165299567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Let z be a complex number such that
| 2| +z=3 +i {whc-rc-iiﬁ].
Then|z|is equal to :
Options:
5
3

416525937726,

A1B528937 727,

um

d16525937 728,

f.
3
[y

41852937729,

Question Number : 62 Question Id : 4165299567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
UM UF AHY T z TH YER © ®
|z| +z=3+i (SRTi= J°7 ), @ |z | =R
R

Options: S\\

W |

41652837726,
N\

41652837727,

416523837728,

416525937729,

Question Number : 63 Question Id : 4165299568 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Let « and {3 be the roots of the quadratic
equation

x2 sinf) — x (sinf) cosf + 1) +cost=0

(0 <0 <45, and « < B. Then

| n, 1
Z[“ |—W is equal to :

n=0" E’n J
Options:
1 1
: sinl
giiEsysess 1+cosb 1-—sinb
1 1
1-cosh 1+ sinf
41552937731,
1 I 1
1+ cosi) 1—sinf
41552937732,
1 I 1
1-cosb 1+ sinb
41552937733,

Question Number : 63 Question Id : 4165299568 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

= O
HMT T TR @
x? sinfl — x (sinf cost + 1) + cosb

(0 < 0 < 45%), 3 T « ad @&{ B) B
: N)

3 {“ e 1 T T
n={ = J
Options:
1 1
£ sinf
41552937730, t-cosd =4
1 1
1-cosb 1+ sinf
4152937731,
1 I 1
1+ cosi) 1—sind
41eE2a37 732,
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1 I 1

1—cost 1+ sinb

41552327733,

Question Number : 64 Question Id : 4165299569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Let A and B be two invertible matrices of
order 3x3. If det(ABAT)=8 and
det (AB ~!)=8, then det (BA ~!B') isequal
lo:

Options:

41652937734, 1

e

415523927735,

416525937736, 16

41852937757,

Question Number : 64 Question Id : 4165299569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 Q
HHI A G491 B, 3 %3 FIZ F 3 = i T
#1 afE det(ABAT)=8 F41 det gﬁ“ =8,
T det (BA~ 1 BT) =@ ¥ : $®

Options: @

41652937734, 1

e

418529377355,

41652037736, 10

416525937737,

Question Number : 65 Question Id : 4165299570 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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a—b—c 2a 2a

2c 2c c—a—b

=(a+b+c) (x+a+b+c)2 x20and
a+b+c=0, then xis equal to :

Options:

41650937738 APC
41650937739, 2atbtc)
41652937740, @ +PHO)
41652037741,  2atbic)

Question Number : 65 Question Id : 4165299570 Question Type: MCQ Option Shuffling : Yes ‘Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

a—b-c 2a 2a
af= Zb b—c—a 2b
- 2c 2c c—a—b
—(a+b+c) (x+a+b+c)2, x=0 TqAq
at+b+c#0 dlx LS
| &
Options: gg\
41652937738, abc ,§’
W
QQ
41652037739, 2a+b+0)Q
41652937740, @ tbto)
41652037741, 2@tbtc)

Question Number : 66 Question Id : 4165299571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The number of functions f from
{1,2, 3, ..., 20} onto {1, 2, 3, ..., 20} such that
flk) is a multiple of 3, whenever k is a
multiple of 4, is :

Options:

41652037742 2 X 0!
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i)
41652937743, © X 15

i
41652037744, 0 X (15)!

| w R/l
41652037745, (19)! 6!

Question Number : 66 Question Id : 4165299571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
{1,2,3,.., 20} | {1,2,3,..,20) WTH 3T=BEH
e, Toer fere f(k) 9 =1 oS 7 9 k IR

EIRINE %, f’fﬁ@ﬁﬂ % s
Options:
41652037742 2 X 0!

a
41652937743, © X 15

i
41652937744, O < (15)!

[ &Kl
41652937745 (19)! X 6!

Question Number : 67 Question Id : 4165299572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 Q®
Let (x +10)%0+ (x—10)50 N
—a,+ax+a, x*+.. +a xi}fq@
0 1 2 al d
eR ; then d_ziqe ual to QQ
X ; . - i
: g PR RS
Options:

41652937746, 1279
41652937747, 12.50
41652037748, 12.25

41652937749, 12.00

Question Number : 67 Question Id : 4165299572 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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A1 9+ xeR F AU
(x+10)P + (x—10)>Y

A=
_. TR, P ) B
=agtapxta, x°+.. tag , dl ag
T E
Options:

41652937746, 1279
41652937747, 12.50
41652037748, 12.25

41652937749, 12.00

Question Number : 68 Question Id : 4165299573 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If 19th term of a non-zero A.P. is zero, then
its (49th term) : (29th term) is :
Options:

41650937750, 111

41652937751, 1:3

41652937752, 2:1 gQ&

41652937753, o 1 $®

Question Number : 68 Question Id : 4165299573 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks:1
Afe U YA AR 4 F 1991 92 99 T,
1 S (4991 9T) : (29491 UR) ¥

Options:

41650037750, 01

41652937751, 1:3
41652937752, 211

416525937753,
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Question Number : 69 Question Id : 4165299574 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let S,=1+q+ g+...+q" and
i ”qll} qll‘2 g+1Y
In=1|| — |+t |

\, = F .9 - F % - i

where q is a real number and'q;tl. If
101 101 . 101 ¥ _
then « is equal to :

Options:

415523927754, 202

415523927755, 200

41652837756, <

41652837757,

Question Number : 69 Question Id : 4165299574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
)
"M S, =1+q+q%+..+q" @4l

: rqil}[qil‘z [qil}n -
g llla i J | 2 &@@ﬂ
q TF aratas G € a9l q(ggﬁ afq
01c, 4101C,. G 4+ 101C, By = o T

. 1 52 1 l% (L 100
o =& S @
Options:

416528937754, 202

416525937755, 200

416528937756, =

41852937757,

Question Number : 70 Question Id : 4165299575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
x cot(4x)

lim

. is equal to :
x>0 sin®x fntz{h'] 9

Options:
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-2

41652937758,
41652937759,
41652937760, 1

41652937761, 4

Question Number : 70 Question Id : 4165299575 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
x cot(dx)

lim AT
=0 sin" x n.'_ntz{lx‘,l e
Options:
41652937758, 2
41552937759, 0

41652937760, 1

41652937761, 4

Question Number : 71 Question Id : 4165299576 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientatior@/ertical

Correct Marks: 4 Wrong Marks: 1 K&

Let K be the set of all real values (@,Bwherr:
the function \QQ)”

fix)=sin|x|— |x| +2(x $§r€|1| 1snot
differentiable. Then the s is equal to:

Options:

41652937762, 0}
41652937763, 171

415523837764,

an empty set
atgsoazrres. P pty set)

Question Number : 71 Question Id : 4165299576 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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A K (x & ) 39 94 Frias JF F 9=
T TRl wer

flx)=sin|x|— |x|+2 (x—m) cos|x]|
AgFEAg 98l €, 9 =g K FE

&

Options:

41652937762,
41652937763, |7}

416528937764

41652937765, (T T =)

Question Number : 72 Question Id : 4165299577 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
x d-x
I
o 2 2 2
JaZ+22 b (d-x)

where a, b and d are non-zero real
constants. Then :

Options:

Let f(x)= , xeR,

f1s an increasing, functic&nf x
K&Q
fis neither increasiygy’nor deereasing
41652927 7ET. function of x \Q(b'
N
Q

fis a decreasing function of x

416525937 7EE

41852937 76E.

f" is not a contindous function of x
41652927769, 7

Question Number : 72 Question Id : 4165299577 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
d—x

X =
V"az +x2 Jbzﬂd = x‘jz

el a, b 791 d Y Aia® 9L E, ol :

Tl f(x)= , xeR,

Options:

. A Bl
41650937766, LA T TR A el
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£, x 1 A T FHAF A & FEEH FeH
41652937767,

4165009377gs.  Jo X 01 BHAM THe 2l

£, x %1 Td e 7 g
41652937769,

Question Number : 73 Question Id : 4165299578 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Let x, y be positive real numbers and m, n
positive integers. The maximum value of

x!]'lyll'l
the expression e v 18
(1 o ](1 o }

Options:

1
41652937770, 4
41652937771, 1

.I't'l. -1
41652937772, omn

1 éﬁS’

2 S
41652937773, &

Q
S

Question Number : 73 Question Id : 4165299578 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option:Orientation : Vertical

Correct Marks: 4 Wrong Marks:.1
HMI x, y SFIEF SRdfd® Hegm € 9491 m, n
ST F |

x]]'l yl'l

(1 px o™ ](l I yzn]

"

=TF 1 HATYHaH q9H

2

Options:
1

41652937770, 4

41652937771, 1
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m++n

416520937772, omn

b | =

418529377735,

Question Number : 74 Question Id : 4165299579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

[ x+1 e
If j\m—fln:h’:f(x}.,“Ex 1+C

is a constant of integration, then f{x) is equal

, where C

to:
Options:
%{xll}
416529237774,
2
Z(x+2)
41652937775,
=4
41652937776,
1 N
S+ S\\Q
41652937777, &Z’
NS

Question Number : 74 Question Id®65299579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

qﬁ{.jx” dx=f (x4 C & ot
i e e V< ael C
J2x=1 '

TF THIEHE S E, A fla) AT

Options:
1

;{xll}
41652937774,

2

S(x+2)
41652937775,

2

S(=4)
41652937776~
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1
41652937777,

Question Number : 75 Question Id : 4165299580 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

EH dx
1he tntepral /6 sin2x (tan” x+cot” x)
equals :
Options:
1| 1
E[I tan I{ I_W‘
41652937773, \ N3/
E{I —1[ 1 \"|x
5| 4 _Exﬁ;
41552937779,
ul
0
4152937780,
'imn—l{ 1 \|
20 9«.5;
41552937781,

k§§§
Question Number : 75 Question Id : 416529 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optior\ tation.: Vertical

Correct Marks: 4 Wrong Marks: 1 &Q

(/4 dx@

THTFA ) CHET
m/6 sin 2x {ta_nE'_r I cntE'x}
T
Options:
1 L1} ].

41652937778, : N3/

1(7 _1[ 1 “|‘

5| 4 33 )
4152937779,

. 1

4152937780,
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3

—1
20 {9«5 J

41852937781,

Question Number : 76 Question Id : 4165299581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The area(in sq. units) in the first quadrant
bounded by the parabola, y=x>+1, the
tangent to it at the point (2, 5) and the

coordinate axes is:

Options:

a7
41652037782, 24

B
41652937783, 9

187

2.-
41652937754,

14

41652937785,

&§§§>
Question Number : 76 Question Id : 416529 uestion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option O ation :Vertical

Correct Marks: 4 Wrong Marks: 1 \Q
'qﬁﬁﬂay==xl|1,sﬂﬁitﬁﬁ§§§§2,5]qzﬁﬂ?ﬂ
S B9 Al a7 S wE e 5 9gs I
T o & F =1 AFe (3 SEIEAl H) ®

Options:
a7
41652937782, ~
8
41652937783, 3
187
2
41652937784,
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416528237785,

Question Number : 77 Question Id : 4165299582 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The solution of the differential equation,

di
jz(x‘ y}zrwhr_-n y(l)=11is:
Options:
log -t Y| oy 1)
1+x—y
41652937786,
log . i =2(y 1)
2—x
41652937757,
1 2—x
0g e > y—l y
41652937788,
1+x—vy
lo =Xx+y—2
L U] 4
41652937789, K&Q’
S

Single Line Question Option : No Orientation : Vertical

Question Number : 77 Question Id@%& Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks: 4 Wrong Marks:

et i L (x )P, s y(1) =1

{h.
Options:
1-x4
log, | =2(x—1)
1+x—y

41652937756

2

log [~ |=2(y~1)

2—x
41652937757,

2—x
416529377585,
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1+x
ﬁ:lﬂy 2
1-x+y

log.

416525937789,

Question Number : 78 Question Id : 4165299583 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Ifin a parallelogram ABDC, the coordinates
of A, B and C are respectively (I, 2), (3,4)
and (2, 5), then the equation of the diagonal

ADis:

Options:

41650937790, X P3Y-11=0

41652937791, X Sy +1=0

41652037792, X —oY+7=0
3x }Sy 13=0

41652937793,

Question Number : 78 Question Id : 4165299583 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Afg T T FgHd ABDC & fﬁgaﬁ\@%
79T C 3 frfeiar e (1,2), {3,4)@(2,5)
g, ﬁﬁ%ﬂ?ADmﬁw%:Q\Q%

Options: @
41650937790, X F3y—11=0
41652937791, X 3y +1=0

Lar S
41652937792, X oy +7=0

3x +5y—13=0
41652937793,

Question Number : 79 Question Id : 4165299584 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Let the length of the latus rectum of an
ellipse with its major axis along x-axis and
centre at the origin, be 8. If the distance
between the foci of this ellipse is equal to
the length of its minor axis, then which one
of the following points lies on it ?

Options:

' =3
41552937794, (4""{5' 242 )

(442, 243)

4165259377395,

(443, 243)

41652837796,

(443, 2472)

41852937797,

Question Number : 79 Question Id : 4165299584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

U UF SregY, faas - -9y F
AR & 9 g qafag W T, F e &
IS 8 T Afg SregT ot AT & =T H
TH, THF Y- 335 Tl T F THA 2, o A
Y H FA-m fog 59 W fogm &2 <

Options: \Q
g\

41552937794, (Jlﬁ' ?'\"E) Q(§,
Q\
(03, 23RS

4165259377395,

(443, 243)

41652837796

(443, 247)

41852937797

Question Number : 80 Question Id : 4165299585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A circle cuts a chord of length 4a on the
x-axis and passes through a point on the
y-axis, distant 2b from the origin. Then the
locus of the centre of this circle, is :

Options:

41652937795, A straight line
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41650037799, 20 cllipse

416525937800, A parsbola

a hyperbola
418524937801,

Question Number : 80 Question Id : 4165299585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
UF IO - T TH S Fwed g foaman

TG 4a TAM T2 A y- 99 F F fAg A A
FT I & ForEst e A g 2b T AT H
== 1 T9g99 (locus) T

Options:

41652037705 =P weel (&

41652937799, 4P GIHY
41652937800, G dLAcid

41552327801, i '

Question Number : 81 Question Id : 41652995865%&ﬂ|0n Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Ori n: Vertical

Correct Marks: 4 WrongMarks: 1 %

If the area of the triangle w ane vertex

is at the wvertex of @ne parabela,
yz t4(x —a”)=0 and the other twowertices
are the points of intersectionof the parabola
and y-axis, is 250 sq. units,then a value of

‘a’ i8:
Options:
1/3
41652937802, 9(2'/7)

243
41652037803, (10)%

418529375804, 5

55

4165259237805,

Question Number : 81 Question Id : 4165299586 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 4 WrongMarks: 1

Ffe & Biy«, fogs1 ©F i waad
yz Fd(x azj=ﬂ?ﬁ?ﬁﬁﬂ%ﬂﬂ1m€l?lﬁ
T 7T y-54 F Afoewed fagsi W E,
IA%E 250 T SHE ¢, @l ‘2’ FUHIAAE :
Options:

41652937802, 9(2'/°)

273
41652037803, (10)%

41852937804, 5

55

4165259237805,

Question Number : 82 Question Id : 4165299587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If a hyperbola has length of its conjugate
axis equal to 5 and the distance between its
foci is 13, then the eccentricity of the

hyperbola is :
Options:
'E ®
41652937806, 6 ‘Q\Q
O
»
41652937807, 2 \Q%
| N
E
41652937808, 8
B
12
41652937809,

Question Number : 82 Question Id : 4165299587 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Afe Teh AfTHTad & W"T #AY (conjugate
axis) %1 EETE 5 T 1 THH! AN &5 #1= H
i 13 ¥, 91 39 AfTREed #1 Sehadl ¢

Options:
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416525937806,

I~

416528237807,

41552327808,

13

12
416525937803,

Question Number : 83 Question Id : 4165299588 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
x—3 _ytl z—6

Two lines 1 3 1 and
x+5 v—2 Z—3
7 = 6 i 1 intersect at the point R.
The reflection of R in the xy-plane has
coordinates :
Options:
41552937510, {2' 4, 7]
\@“
41652937811, (&47) §Z§
yan &
41652937812, & —47)
N

41652837813, (2,47

Question Number : 83 Question Id : 4165299588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wr_ong Marks: 1
=3 y+l 26
1 3 I

A,
4
@
A

x+5 y—2 =3 R )
= e 7 g R W §1 g

R%ﬂw-ﬂﬂfiﬁﬁﬁa%ﬁﬁﬁﬁﬁﬁ:

Options:

4165258237810, 2 —4, -7
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41652937811, (24, 7)
41652937812, (2 —47)

41652037513, (24 7)

Question Number : 84 Question Id : 4165299589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If the point (2, «, 3) lies on the plane which
passes through the points (3, 4, 2) and

(7,0, 6) and is perpendicular to the plane
2x — 5y =15, then 2a —3p is equal to :
Options:

41652037814 7

41652937815, 12

41652937816, 2

|

416525937817,

Question Number : 84 Question Id : 4165299589 Question Type: MCQ. Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientationg\Vertical

Correct Marks: 4 Wrong Marks: 1 \Q
AfE 145 (2, o, ) 39 THT T frem Tl
(3,4,2) 91 (7,0,6) B o T
2x 5y=15%ﬁa'aaa%.ﬁ‘r%g\$ 3B TELE :

Options:

41652937814, 1

41652937815, 12

41652937816, 2

|

416525937817,

Question Number : 85 Question Id : 4165299590 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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. M e e Fa) . M A
Let3it+j, i+43j and pit(1-p)j
respectively be the position vectors of the

points A, Band C with respect to the origin
O . If the distance of C from the bisector of

3
2 r
then the sum of all possible values of {5 is:

the acute angle betweenOA and OB is 75

Options:

41652937818, 1
41652937819, 2

41652937820, O

4165258237821, 4

Question Number : 85 Question Id : 4165299590 Question Type: MCQ Option Shuffling: Yes-Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T S Y — A

HTT ﬁ:l; :I\H}r GE j_:;;|(1 B)j
Y G fage i A, BIN C FHAE5 O F
Ty, feafa afew €1 afs C #1, OA 91 OB

M
5 5 35_%

&
mﬁ¢aﬂﬂﬂmhawmwv\%§

Options: @
41652937818, 1

41652937819, 2
41652937820, O

416525937821, 4

Question Number : 86 Question Id : 4165299591 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

A bag contains 30 white balls and 10 red
balls. 16 balls are drawn one by one

randomly from the bag with replacement.
If X be the number of white balls drawn,

b

mean of X .
J is equal

then (

\standard deviation of X
lo:
Options:

algsoes7ess. V2

416525937823, 3

algsoozrecs. W3

415523937825,

Question Number : 86 Question Id : 4165299591 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T 9 H 30 Tke e a1 10 o e §1 3
H Y Fg=d], UF UF Flch (Wiaem= |fed)
16 712 TRt 72 | At fAarelt T8 TFe i) &

o x 8, 4 (s i
T Ny
ptions: _ @

algsoozrass. V2

41652937823, 3
Alesoozrasd W3

416525937825,

Question Number : 87 Question Id : 4165299592 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Let5={1, 2, ..., 20}. A subsetB of Sis said
to be “nice”, if the sum of the elements of B
is 203. Then the probability thata randomly

chosen subsel of S is “nice” is:

Options:
5
~20
41652937826,
&)
~20
416524937827,
4
22{]
41652937828,
b
22{}
41652937829

Question Number : 87 Question Id : 4165299592 Question Type: MCQ Option Shuffling.: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
HAIS=(1,2,..,20} ¥1 S UF IUAT=4 B
1 “nice” ﬁm%ﬁzﬁﬂaﬂﬁﬁﬁﬁm
2m%rﬁ5%wﬁmﬁm1%mmm§ﬁ

F “nice” B w1 WITHT T : S’Q\Q
Options: (§’
<§§§5
2?_{] @
41652937826,
6
520
41652937827.
4
220
41652937828,
2
P
41652937829,

Question Number : 88 Question Id : 4165299593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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.blc_cla_alb

Given 1 12 13 for a AABC with

cosA _cosB _ cosC

usual notation. If

r

( I Y

then the ordered triad (o, B, v) has a

value :
Options:
41652937830, (34, 9)
72
41652937831, (19.7.29)

41652937532, (7,19, 25)

41652937833, (©.12,13)

Question Number : 88 Question Id : 4165299593 Question Type: MCQ Option Shuffling : Y.es:Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

TH AABC H WEF Hahdil & sgw W T B

-h}c_c}a_a}h

11 12 13 B iE

=

‘cosA  cosB  cosC -
= = 2, a1 wfad j@?
o B ¥ Q

Q
(, B, ) FTHFAAE &&\
Options: \Q(b'
Q
41652937820, {3“4’51 @

T
41652037831, (19 7,25)

41652937832, (7,19, 25)

41852937833, (2.12,13)

Question Number : 89 Question Id : 4165299594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

All x satisfying the inequality

(cot ™ x)2 =7 (cot " 'x) +10 >0, lie in the
interval :

Options:

41652937834, (COtS, cotd)
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':ﬁ -
41652937835, (COt2, =)

41652937836, (~ ©rCOtS) U (cotd, cot2)

(= o, cot5) U (cot 2, )
41852937857,

Question Number : 89 Question Id : 4165299594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
9 Bl x, W AT
(cot™ a2 —7 (cot™ lx) + 10 >0 =1 Tq= Fd
g, e 1 9 foeg siaue | #72

Options:

41652937834, (COtS, cotd)

':'. o
41652937835, (COt2, =)

4ieso937836. (~ ®rCOtI) L (cotd, cot2)

(= o, cot5) U (cot 2, )
41652937837,

Question Number : 90 Question Id : 4165299595 Question Type: MCQ. Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option OrientatiopQ\Vertical

Correct Marks: 4 Wrong Marks: 1 sQ\Q
Contrapositive of the statement @
“If two numbers are not equa&len their
squares are not equal.” is :@
Options:
If the squares of two numbers are
equal, then the numbers are not

41652937538, qual.

If the squares of two numbers are not
equal, then the numbers are not

41652937539, equal.

If the squares of two numbers are not

41653637840 equal, then the numbers are equal.

If the squares of two numbers are
equal, then the numbers are equal.
415529375841,
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Question Number : 90 Question Id : 4165299595 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
EdGl

“afs @ T e @ E @ e A R
T 72 2
=1 FfAEAIEF (contrapositive) HY9 g
Options:
41652937838, FUA Tl & |

afe & e F 99 FuE 79 8, ql
41650037839, HEAL A T2 2 |

Ife & dEmsti % 91 aUe TR g, A
41650037840, AL A 2 |

Iife &1 TEmsl & 97 9ue €, o g

AT E |
41652037841,
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